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E Grey line: exponential fit Peak flux: 1.398+/- 0.464 c/s/cm’ E
— Black line: power law + gauss fit Fluence : 14.31+/- 4.15 c/cm? -
— Dashed line: power law o ) ) —
- Duration: 28.79+/- 8.09 s B
- Best fit model: 1. .
— Best fluence model: 1. —]
- ’ Best duration model; 1. _
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- Power law index: -1.547+/- 0.154 (chi*-red= 1.01) 7
- b 41 - b | H i b g
= \ {ﬂﬂw wﬂhf **+Hﬁmﬁwﬂ%ﬁ WWHH wﬂﬂ Mﬁ%HHﬁjﬁwﬁﬁmMﬁﬂﬁ WWH u ﬁ#ﬁ MHHHHWW ) *ﬁﬁﬂﬂ{ﬁ%{mﬁﬁﬁ W%W 4 **ﬂ*ﬁ”W*Hﬂ+ﬁ+ﬂﬁ*ﬂﬁﬁﬁﬁﬂﬁf@
= t | t =
E 1 L L L L L L L L L 1 L L L L L L L L L 1 L E
0 100 200 30

Time [s]

0



